RETROSPECTIVE ASSIGNMENT: UNITS 1 TO 5
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4. Solve each equation.
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5. Rearrange each equation to solve for the indicated variable.

(a) V =%7rr2h , solve for r.
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(b) A=xr’+2xrh, solve for h.

o ,4-7!72—:— Trdsanrh -r?
l! A,"‘I = Q’H\)"}’)
A
/ A:m?__ gﬂh
] = T amnr
QY :
. AT _
¢/ N4 —
- =
o h=8nr



6. Find an equation of each line. If possible, write the equation in szandard form as well as in slope, y-intercept form.
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8. For a taxi ride, a Toronto taxi company charges $5.00 plus $1.50 per kilometre travelled.

(a) Complete the following table of (d) Which variable is the

values:
d = distance (km), C = cost ($)

d C (I’diggmm)
0 [#5.00 -
10 (400 | #)5
20 20| #15
30 {5000 #15
0 B0 | H5
so §90.00] #15

(b) Is this relation an example of
direct variation or partial
variation? Explain.
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When d=0, €C=5
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(¢) Explain why the relation
between C and d must be linear.
In addition, state the slope and
the y-intercept.
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(e) Write an equation, in the form
y=mx+b, that relates C to d.
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(f) Graph the relation.
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(g) Interpret the slope as a rate of
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(k) Convert the equation that you

obtained in (e) to standard form.
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C and d in words.

The cosf is H5.00 plus
#1,50 per fiilomefre ‘)gau@lfv’

(j) How much would it cost to
take a 100 km taxi ride?
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A+ At + X pE = ~6b
10. The sum of three consecutive mteger@—%. Find the
numbers. Le-.'— X rﬁpresfmf‘“ﬂ smallest 1
Then, the ofer jntesers must be x+1 and 7(+3
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11. Chris has two cats named Toonie and Loonie. Toonie,
the older cat, is one and a half times heavier than
Loonie. Their combined mass is 18 kg. What is

Toonie’s mass? |1 m ,—;FyesenF Loom'e & mass .
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12. Kim’s Coffee Shop sells a cup of tea for $1.05, a cup of
coffee for $1.35, and a cup of hot chocolate for $2.25.
One busy day, 20 more cups of coffee than cups of hot
chocolate were sold, and 30 more cups of coffee than
tea, for a total of $202.50 for all three hot drinks. How

many cups of each drink were sold?
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M er%éo ed cylindrical
garﬁfgéﬁfﬁer has a surface
area of 1500 cm” and a radius of
12 em. What is its height, to the
nearest tenth of a centimetre?
Note: The formula for the surface
area of a cylinder is

§=2nr’+2zrh. Keep in mind

that the garbage container
is open-topped! (See the
net at the right.)
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Hax
tions using algebralc methods. In this question you will solve the

equation —§x+ 1= §x+ 7 using a graphical method as well as a geometric method.

Graphical Method

Algebraic Method

Sketch the graphs ofy=—%x+7 and y=§x+7 on the

same set of axes. Locate the point of intersection of the
two lines. One of the co-ordinates of the point of
intersection is the solution.
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Use an algebraic method to solve —%x +7 =§x+ i

Does the answer agree with the answer produced by the
graph:cal method?
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Brain Teaser

There are 5 jars of pills containing pills of the same type. Four of the jars contain pills that have a mass of 10 g. One jar,
however, contains only contaminated pills, which have a mass of 9 g. Determine which jar has the contaminated pills by

making exactly one measurement with a scale.



